

## Multiplying up to 12 by 12 (M)

$3 \times 12 =$

$12 \times 6 =$

$12 \times 7 =$

$12 \times 3 =$

$9 \times 12 =$

$12 \times 11 =$

$1 \times 12 =$

$12 \times 12 =$

$3 \times 12 =$

$0 \times 12 =$

$12 \times 1 =$

$12 \times 7 =$

$12 \times 5 =$

$12 \times 11 =$

$3 \times 12 =$

$12 \times 12 =$

$3 \times 12 =$

$12 \times 11 =$

$12 \times 7 =$

$12 \times 3 =$

$12 \times 3 =$

$7 \times 12 =$

$12 \times 1 =$

$12 \times 1 =$

$12 \times 6 =$

$7 \times 12 =$

$6 \times 12 =$

$12 \times 3 =$

$12 \times 12 =$

$12 \times 12 =$

$11 \times 12 =$

$12 \times 12 =$

$12 \times 3 =$

$3 \times 12 =$

$2 \times 12 =$

$12 \times 5 =$

## Multiplying up to 12 by 12 (M) Answers

$3 \times 12 = 36$

$12 \times 6 = 72$

$12 \times 7 = 84$

$12 \times 3 = 36$

$9 \times 12 = 108$

$12 \times 11 = 132$

$1 \times 12 = 12$

$12 \times 12 = 144$

$3 \times 12 = 36$

$0 \times 12 = 0$

$12 \times 1 = 12$

$12 \times 7 = 84$

$12 \times 5 = 60$

$12 \times 11 = 132$

$3 \times 12 = 36$

$12 \times 12 = 144$

$3 \times 12 = 36$

$12 \times 11 = 132$

$12 \times 7 = 84$

$12 \times 3 = 36$

$12 \times 3 = 36$

$7 \times 12 = 84$

$12 \times 1 = 12$

$12 \times 1 = 12$

$12 \times 6 = 72$

$7 \times 12 = 84$

$6 \times 12 = 72$

$12 \times 3 = 36$

$12 \times 12 = 144$

$12 \times 12 = 144$

$11 \times 12 = 132$

$12 \times 12 = 144$

$12 \times 3 = 36$

$3 \times 12 = 36$

$2 \times 12 = 24$

$12 \times 5 = 60$